
 
 




 “v”  “c”  v < c. 
1807 
 ‘m’ , ‘n’ , ‘η’  ‘μ’ .  
‘n’  
: 
‘n’ . 

 (n) =  
ȊనŪంలĐ	ĥాంǳ	ĺÂగమ�

య�నకంలĐ	ĥాంǳ	ĺÂగమ�
   =  ௖

௩
 

*  


*  
*  
*  
*  .  

(i)  (ii) 
* 
:  

:  . 

  = 0.81 gm/cm3 

  = 1 gm/cm3 

  = 1.44  
 = 1.33 

 
 

 (c)  = 3 x 108 m/s        = 3 x 105 Km/s (  2.99792458 x 108 m/s.) 
  = 2.997 x 108 m/s 

= 
ȊనŪంలĐ	ĥాంǳ	ĺÂగమ�

ĦాȃలĐ	ĥాంǳ	ĺÂగమ�
   =  ௖

௩
 = ଶ.ଽଽ଻ଽଶସହ଼	௑	ଵ଴ఴ

ଶ.ଽଽ଻	௑	ଵ଴ఴ
 = ଶ.ଽଽ଻ଽଶସହ଼

ଶ.ଽଽ଻
  = 1.003085 ~ 1.0003  

-1: 1,24,000 Km/s. . 
:    (c)  = 3,00,000 Km/s  

 (v)   = 1,24,000 Km/s 

= 
ȊనŪంలĐ	ĥాంǳ	ĺÂగమ�

İౖెమంȭ	లĐ	ĥాంǳ	ĺÂగమ�
   =  ௖

௩
 = ଷ	଴଴	଴଴଴

ଵ	ଶସ	଴଴଴
 = ଷ଴଴

ଵଶସ
 = 2.419 = 2.42 () 

-1: ଷ
ଶ
. . 

:    (c)   = 3 x 108 Km/s  
 (v)  = ? 

 (n)  = ଷ
ଶ
  

 = 
ȊనŪంలĐ 	ĥాంǳ	ĺÂగమ�

Ħాǯ	పİ�రš	య�నకంలĐ	ĥాంǳ	ĺÂగమ�
    

        n  =  ௖
௩
  

                                     ଷ
ଶ
  = ଷ	௑	ଵ଴

ఴ

௩
 v = 2 x 108 m/s 
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 
   

 1.0003 V = ௖
௡

 = ଷ	௑	ଵ଴
ఴ

ଵ.଴଴଴ଷ
 = 2.99 x 108 m/s 

 1.31 V = ௖
௡

 = ଷ	௑	ଵ଴
ఴ

ଵ.ଷଵ
 = 2.29 x 108 m/s 

 1.33 V = ௖
௡

 = ଷ	௑	ଵ଴
ఴ

ଵ.ଷଷ
 = 2.26 x 108 m/s 

 1.44 V = ௖
௡

 = ଷ	௑	ଵ଴
ఴ

ଵ.ସସ
 = 2.08 x 108 m/s 

 1.46 V = ௖
௡

 = ଷ	௑	ଵ଴
ఴ

ଵ.ସ଺
 = 2.05 x 108 m/s 

 1.47 V = ௖
௡

 = ଷ	௑	ଵ଴
ఴ

ଵ.ସ଻
 = 2.04 x 108 m/s 

 1.52 V = ௖
௡

 = ଷ	௑	ଵ଴
ఴ

ଵ.ହଶ
 = 1.97 x 108 m/s 

 1.50 V = ௖
௡

 = ଷ	௑	ଵ଴
ఴ

ଵ.ହ଴
 = 2.00 x 108 m/s 

 1.53 V = ௖
௡

 = ଷ	௑	ଵ଴
ఴ

ଵ.ହଷ
 = 1.96 x 108 m/s 

 1.54 V = ௖
௡

 = ଷ	௑	ଵ଴
ఴ

ଵ.ହସ
 = 1.95 x 108 m/s 

 1.63 V = ௖
௡

 = ଷ	௑	ଵ଴
ఴ

ଵ.଺ଷ
 = 1.84 x 108 m/s 

 1.65 V = ௖
௡

 = ଷ	௑	ଵ଴
ఴ

ଵ.଺ହ
 = 1.82 x 108 m/s 

 1.71 V = ௖
௡

 = ଷ	௑	ଵ଴
ఴ

ଵ.଻ଵ
 = 1.75 x 108 m/s 

 1.77 V = ௖
௡

 = ଷ	௑	ଵ଴
ఴ

ଵ.଻଻
 = 1.69 x 108 m/s 

 2.42 V = ௖
௡

 = ଷ	௑	ଵ଴
ఴ

ଶ.ସଶ
 = 1.24 x 108 m/s 

 1.445 V = ௖
௡

 = ଷ	௑	ଵ଴
ఴ

ଵ.ସସହ
 = 2.08 x 108 m/s 

 1.455 V = ௖
௡

 = ଷ	௑	ଵ଴
ఴ

ଵ.ସହହ
 = 2.06 x 108 m/s 

 1.458 V = ௖
௡

 = ଷ	௑	ଵ଴
ఴ

ଵ.ସହ଼
 = 2.06 x 108 m/s 

 1.00032 V = ௖
௡

 = ଷ	௑	ଵ଴
ఴ

ଵ.଴଴଴ଷଶ
 = 2.99 x 108 m/s 

 1.00045 V = ௖
௡

 = ଷ	௑	ଵ଴
ఴ

ଵ.଴଴଴ସହ
 = 2.99 x 108 m/s 

: 
n21 . 

  = v1 

  = v2 

n21   = ǿదట�	య�నకమ�లĐ	ĥాంǳ	ĺÂగమ�
ĸ²ండవ	య�నకమ�లĐ	ĥాంǳ	ĺÂగమ�

 = ௩భ
௩మ

     

 v = ௖
௡

   →   v1 = ௖
௡భ

      v2 = ௖
௡మ

        ∴ n21 = 
ቀ ೎೙భ

ቁ

ቀ ೎೙మ
ቁ
 = 

ቀ భ
೙భ
ቁ

ቀ భ
೙మ
ቁ
 = ௡మ

௡భ
  → n21  = ௡మ

௡భ
   

= 
ĸ²ండవ	య�నకమ�	ȁకŐ	వĥ�Ƙభవన 	గ�ణకమ�

ǿదట�	య�నకమ�	ȁకŐ	వĥ�Ƙభవన	గ�ణకమ�
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